o0O0O0O0oOooOog #40 00

0000111 0000000D000000000000D000-.00000000()000
0000000000 [ (f(x)g(=) = f(z)g(z) + f(z)g(x) ] DODDOOOO

", nn+1)(2n+1)
(1);z2f :

n

2) Y it = <”(”2+ 1) )2

i=1
(3)n(n?+2)030000000
4)nn*-1)050000000
(5) h20000 (1+h)"21+nh0000
(6)y=2"00000 ¢ =nz"' 0000

(1) 00000000 P(r)OOO0
() LEDE 1+ 1)

6 :1:12DDDP(1)DDDDDDDD

k(k + 1)(2k + 1)
6

goodooooooboboobooboo

k
(B) P(k)D0DO0DODODOD Y 4 =
=1

(k+1)?000000

k+1 k

Yo=Y i+ (k+1)
=1 i=1

_ k(k:+1)6(2k+1) (4 1)?

< k(2k + 1)

=(k+1) +k+1>

2k* +k +6k+6
(k+1) 6+ *
(k+1)(k +2)(2k + 3)

6
E+D((k+1)+1)2k+1)+1)
6

0000000 P(k+1)000000000000D00000O0O00000O0nO000 P(n)0O
Doooo
(2) OOOOOODO P(n)ODOODO

(A) (M>2:1:13DDD P()OOOODOOOO

2
u k(k+1)\?
(B) P(k)DDDODOODDOOO 213:(2) 00000000000000 (k+1)3

i=1

gbogoogod

k+1

+

B ="+ (k+1)° = <k(k+1)> + (k+1)3

‘ 2
1 =1

.
Il



2

2
(k+1) <Z+k+1> :(k+1)2%

(R 12(k+2)% ((k+1)((k+1)+1)>2
2

4

0000000 P(k+1)000000000000000000000000 000 P(n)0
00000

(3) D0O0O0O0OO0O0 P(r)0ODOO

(A)1(1242)=3000030300000000 P1)000000OO0

(B) P(k)0ODDOOOOODDOO0OO k(k?2+2)03000000000000000NDODOO
00 k(k2+2)=3N0000000000

E+1D)((k+1)2+2)=(k+1)(k* +2k+3) = k> +3k* + 5k +3

=k(k® +2) +3k*+ 3k +3
=k(k*+2)+3(k* +k+1)
=3(N+k +k+1)

D00 (k+1)((k+1)?42) 0300000000 P(k+1)0000000000000000

00000000 000 P(r)00OOODOO

(4 00DOOO0OO P(r)ODODODO

(A)n=10001(1*-1)=0000 50000000

(B) P(k)0ODDOOOO0ODDDO k(k*—1)05000000000000000000 NOO
000 k(k*—1)=5N0000000

(k+1) ((k+1)*—1) — k(k* — 1) = k® + 5k* + 10k® + 10k* + 4k — (k° — k)
= 5k* + 10k® + 10k + 5k
0o
(k+1) ((k+ 1" =1) = ((k+1) (k+1)* = 1) = k(k* = 1)) + k(k* —1)
=5(k* + 2k® + 2k* + k) + 5N
=5(k* +2k> + 2k* + K+ N)
00000O0(k+1)((k+1)*-1)050000000r=k+100000000000000
0000000000000 »n0000 PR)ODOOOOO
(5) OODO P(r)DODOO

(A) P()0 (1+A)'21+1-A0000000000
(B) P(k)0DDDODOOOOODOD (1+h)f21+kk000000000

1+ R = (1 +h)FA+h) = 1+ kh)(1+h)

=1+ (k+Dh+kh?> =14 (k+1)h

0000000 P(k+1)00000000O0O0OUOOOOUOOOOUOODOOROOO P(n)0O
ooogo



(6) OO0 P(n)0DD0OO
(A)

000 ()Y =1=12"=12'"'000 P(1)D0OOOOOODO
(B) P(k)D00D0O00DDO0ODOO (2% =k~ 0000000000000
(1Y = (azkx)/ = (xk)/a:+xk(x)’ = ke le 4 2h 1
= ka4 2 = (k4 1)2* = (k 4+ 1)zt 1

000000OPk+1)00000000O0O0O0OUOOOOOOUOODOOO nOOO PR)ODO
good

0000 112 0O000O0O0O0O0O0O0OO0OO0OODO0O0O0O0OO0O0OnnO00000000
(H)O0O0O0 apy2=apy1+a, 00000a; =p, ap=q0000000

an = Aa"' 4 B

1 1- - -
000000000000 a= +\/g,5: \/E,A:q Pl p_PY74 qppp
2 2 a—pf a—0

(2) 000 anys = 6ans2 — 1lani +6a, 00000a; =3, a3 =6, a3 =140000000

an:1+2n71+3n71
goooooooo

(1) ap=Ao"'+BA-'00000000000 P(r)OODDO

(A)
1-1 1-1 _ _ q—pp pa—q
A" "+ BB~ =A+B= P + Pz
:p(oéjé:g) —p=ay
000 P)ODODOODOOO
(B)
AP 4 BEP = Aat Bp=1"P0 o P04
a—p a—pf
_ qa—pPa+tpaB—qBf  qla—p)
B a—pf T a-8
=q=az

000 P(2)00000000



(C)P(k) 00O P(k+1)00000OCOOO

akt2 = ap1 + ax = Aa® + BB* + Aok~ 4 BBF!
ZA(ak—l—Ozk_l)—i-B(ﬁk—l—,Bk_l)
= A" Ha+1)+ BB +1)
000000000 o, B0 a+B=1,af=-100000022-2—-1=0020000000
Oa®=a+1, A2=4+10000000000200000000000000000000
0000000000000 Ao*+2-1 4 Batk+2-1 000 P(k+2) 000000000000
0000000000000 000 P(R)ODOOODOO

(2) ap=1+2""'43"-100000000000 P(r)00OOO
(A)

142043 =1 4141=3=¢
000 P(1)0000O00O0
(B)

1422714371 =14243=6=na
000 P(2)00000000
(€)

142271433 1 =14449=14=a3

000 P(3)00000000
(D) P(k)0O0O P(k+1)0P(k+2) 000000000 0000

ap43 = 6agy2 — 1lagyr + Gag
= 6(1+ 28 43— 11(1 + 2% 4 3F) 4+ 6(1 + 27 + 35
=6—-114+64+(6-2>—11-246)2""1 4 (6-3% —11-3 +6)3~~*
=14+8-2F1po7.3F"1 =1423. 271 4 33.3k"1
— 14 2k+2 4 ghH+2 — 1 4 o(k+3)—1 | g(k+3)-1

00000 P(k+3)00000000000000O0OOD0OOO0OOOOORO000 PR)ODODO
ooo

uggbod 113 0Oobooboobooboobon

000U000000o0U000o0UO0O (DOU0bO0oUOoO0)ODoDooOUOoOooooOooool
goboooboooboooooooboooooooboooboooooooooboooboobDIbOoobOon
000000000000000000000000000000O00o0UDUOO0ooOO Pk)
0000000 k0000000000000 O00ODO0O0O0UDO0ODOO0OOOD PH)OOODODOO
00 P(k)OOOOOODOUOOOOUOOOD AOODOOUOCODOOUOOOOODOOOOOODO 100



gobooooobo 1ooboomooodob kOoboooobooooboooboboobogoboo
goboOoobo0ooooooooobooo1100000000O000O0000O00D k+1000
00000 Pk+1)00O0D0O0O0OOODOOOUOODOOOOODOO

gbobooboooboooobooobbooobooobooobooooobooooooooboooo
gobobooobobooobooobooboobbobooboobooobooooooooboooog
ooooboooooooboooon

0000o0oO0o0oo0oo0Uo P(n)ODDOODOOOO0OUDOODOOODOOOPKk ODODO
g0ob0 k00000000000 O0DOO0OO0OOODOOOODOOOOOODOOODOOODO
obooooboobooooobo20b0000000000

e kO0O0ODOO0ODODOOUODOODOUDODOODODOUODODOUODODOODODOO
e kODODODOOODOOOOODOOOODODOOODOOOOODOOOODOOOOO

20000000000000 P (k0000 P(k)0000000 1000000000000
000000000000000000000000000000000000000000000
00000000000000 P(1)0000 R(1)0000

P(k)0DO0OOOOD00 P(k+1)000000000 P(k)O P(k)000000000000
00000000000000P(K) D P(k)00000000000000000000000
000P (k) = P(k+1)0000000

0000000000000000

e P(1)00D0000
e P(k)ODOOOOO P(k+1)000000

gogboobobboob 200000000000 00000b0000b00



